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Why do atoms form chemical bonds?

Bonding and States of Matter Review Sheet
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e octetrule b e

= covalent bond ° 5%&&{%} ob ¢ die o SaeT e d\eﬁu"u;; G ‘%‘j

e donicbond ;| zlec g sAENC aMr e Aot R Nensde e

e« polar covalentbond ; U {E, sl shaing ﬁ,;" e
&

e network covalent © ¢ &f}f oy /"} 5 wﬁh G TIEN gégg\k‘cﬁ%ﬁ% 53,;,35{;5
*  metallic bond - iﬁé&”ff&w‘\aﬁ e- by i’%ﬁ’?ﬁ’\é Cafians

e van der Waals forces . eg&{g., g?@{{ L doe e nAswerent

e dipole forces « e\ Lowalint  Cennpw ey ({}N Werorgs o S 313%,»}» 44 - {;if\swg )

O

- w ¥ N B . . o . .
s hydrogen bond - Poa Coveldnd g and 5i H ot bed ww N oo :}

‘What is a Lewis dot structure?
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Write dot structures for potassmm arsenic, bromme, silicon, tellurium, alummum oxygen, sodium, and rador%.
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Two atoms each provide 3 electrons that are shared by the two atoms. This is an example of a:

a. single covalent bond ‘ b. double covalent bond

¢., triple covalent bond d. quadruple covalent bond
['wo atoms each provide 1 electron that are shared by the two atoms. This is an example of a:
a. single covalent bond b. double covalent bond

¢. triple covalent bond d. quadruple covalent bond

A certain nonmetal usually forms two covalent bonds in its compounds. How many valence electrons does this ele-
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Noble gases do not form chemical compounds because:
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Which of the following compounds contains ionic and covalent bonds?
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‘ kkiO. Complete the table for the following molecular compounds

Formula | Lewis Structure Molecular geometry Polar? /Intermolecular forces ]
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11. In order to melt solids of each of the following substances, tell what type of bonds or forces of attraction must be
disrupted.
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12. Give three characteristics of each of the three states of matter.
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13. How do intermolecular forces affect the state of matter Of a substance at room temperature? Can 12 1
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